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oA 20,000& *40H 800
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OE2AMHE HAZZ]H 450,000& +7= 3,150
Ogt=2 2014 VP ALA 59,000& *3002 17,700
ONMS-2 1Tl A 2013 350,000& »35& 12,250
02 2324l 24,767 25,177 A410
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c2LUH 300,000& *60CH 18,000
O2-UetA A" 38 NS HNEEI A5
45,000,000& 45,000
23 0telE =t 30,630 29,247 1,383
201 L4l 11,480 11,497 ANT7
01 At 2t 2l 4,943 4,960 A7
O&FEs =0lus W 3,200
oXAWSE WL 8,000& x100% 800
o=F0lNSs WL 8,000& 300 2,400
Ouns&g Zgd &4 200,000& =34 600
OXJ FEXAQUS SHEM & MEE
500,000& 500
OXZ FEXAQ M3 &% M
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OZEsAS |FE HNA 10,000& =7 K 70
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02 =224l 6,537 6,537 0




2N E2DRD
Bu: yos 23
ool WH U XYL CERED
= _ — d =
A FB B (B) - HRAY - BES 0l &t o il Bl RE2
OFMNEE JHASIAIAE FX 2t
45,000,000& =6%+4,499,000& =8%+22, 308,000 5,737
A x12%
Odatu=zd Idl RALE=+ 800,000& 800
301 LAz 18,450 17,050 1,400
11IIEESS 18,450 17,050 1,400
O=F8 FEstus ZA=+<
70,0003 10 223 15,400
OZXJ FEstus ZA=s=E 70,000& 5 x53] 1,750
OX HLXAOIHS fHE 2ASE
70,0003 x5 »23| 700
OFXY 2P0 U JHABSES DS LA
=g 300,000 »2&! 600
303 Z& 3 700 700 0
01 243 700 700 0
OXA FEXAQ el A& 700
o X R 300,000& »1H 300
o 200,000 »1H 200
& 100, 000& »2H 200
ANz HZEEAAE D& 42,625 37,904 4,721
= 10,779
- 31,846
201 £B-2dH| 42,625 37,904 4,721
= 10,779
- 31,846
01 At 22/l 42,625 37,904 4,721
OAZF SSIIEAIAE =2FH LA X2
27,024,000 27,024
= 7,235
- 19,789
OANZ+ Mol=2HH #= gx2
15,601,000& 15,601
2 3,544
- 12,057
HE2IAZH(EERS) 149,256 101,167 48,089
Jl2Zl 51,273 50,742 531
FNMII=2ZH 51,273 50,742 531
201 Let2d]| 7,713 7,182 531
01 At 2teltl 7,713 7,182 531
ORM2Z JIE+8H| 279,000& »15H 4,185
OJiege=d Sl 7,000&*34«14H«12& 3,528
202 044l 40,560 40,560 0
01 = LH o4 1l 40,560 40,560 0
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203 ¥ R =&t 3,000 3,000 0
04 ENSHLRF=XH| 3,000 3,000 0
OFMZXAEH 250,000& «12& 3,000
ol 2 A | 97,983 50,425 47,558
SN E HE oHA2AY| 51,947 50,425 1,522
101 @121l 51,947 50,425 1,522
02 JIEt& E 51,947 50,425 1,522
O (LA I HEx) 39,057,000& 39,057
OsY 720
o il & Xt 40,000 x1H x12& 480
SYE! 20,000& *x1H x12& 240
O Z A 130,000& x1H x12& 1,560
(OES=2 Nl 140,000& x 18 =12 1,680
O9 e Atdl
36,837,000 «1/12%84%*86%+1/30%20 1,479
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O=2WA bl 20,000& «133| x12& 3,120
oal g = 50,000& *12& 600
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02 JIEt& E % 46,036 0 46,036
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OIEsx< 1,440
o il & Xt 40,000& x1H +x12& 480
o J|EF 20,000& x4H «12& 960
(@FSR =] 130,000 x1H »12& 1,560
O&gE X 140,000& x 15+ 12& 1,680
OdIIE A
33,417,000 *1/12%84%*86%1/30%20 1,342
OAZ2tel =g
33,417,000 *1/12%84%*42%x1.5/209%34 Al 2+ * 1 2,877
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